5 4 3 | 2 | 1

PARTS LIST
ITEM | QTY PART NUMBER DESCRIPTION

347.00 mm [13,661 in] 1 18 [M3 pull up insert M3 Insert

2 20 M3 x 12 mm CSK Screw  |Fixing Screws

2 20 M3 x 12 mm Torx Screw |Fixing Screws

3 4 |Non slip foot Rubber Feet

6 1 |M5301104 Base Panel

R R % iiiiii S \ 7 | 1 |M5300045 Sub Assembly

332.50 mm [13,091 in] B 25:00 mm [0,384 In]

%@,

166.25 mm [6,545 in] 166.25 mm [6,545 in] |

136.00 mm [5,354 in]

57.10 mm [2,248 in]

|
‘ I —
—f @ 777777 o 77@7 E=

—
=
N
(@)
¢\
™M
—
=
S
o
.
o0
co

370.00 mm [14,567 in]

4.67 mm [0,184 in]

A /@ 3.30 mm [0,130 in]
==
O
= -B 3 & RV
o o) == c v e )
= % 2 w E|  E 5| E
=77 2 2.8 8 el 8y 2y
— — — [ e —— ‘\24;78. S —
e et = o
A 02 = 149.00 mm [5,866 in]
. — 200.00 mm [7,874 in K 1 _
347.00 mm [13,661 in] a L7, ] o 172.00 mm [6,771 in]
400.00 mm [15,748 in]
FIRST ANGLE PROJECTION
Notes: Case comes fully assembled esigned by pescrption pate scale
. Y y . L Clark Unidesk M400 Black, RAL 9005 05/11/2014 1:2.75
Drawing not completely to first angle projection. METCASE ENCLOSURES _
Non sealing gasket version (M5340119). 15 Brunel Way, Segeneworth East, Fareham, MET www.metcase.com
- - - - - - - - - — - - H hire, UK. PO15 5TX Issue Sheet
© 0K Enclosures Lt (Dato a5 shown) Tris drawing contains proprietery nformation of KW EnclosuresLidand i endered suject b ho follwing comdtions. The nformaton|  SIEE0 N o Pl oo o |M5340119 1 | 1/1

| 5 | 4 3 \ 2 \ 1




